Issue: lose many isolated electron in the point of precut

1. Changing MVA cut is insufficient for improving this issue.

2. To select 2 isolated electrons accurately, we need to reject isolated

electrons from B decay.
—Impact parameter is effective

3. miniDST doesn’t store “impact parameter” but DST keeps it
— forget miniDST
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Cut flow 1 : No cut (evt = 24000)

Cut flow 2 : electron number is 2
Cut flow 3 : same sign

The conventional way was 1/3 the efficiency in the point of selection of 2
electrons and O photon, so it is improved.
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a Applying background samples (ongoing)
first steps: 4 fermion single W semileptonic samples

o Add impact parameter cuts

jurina@post.kek.jp

RHN process




10°

10

Mgrun = 100 GeV
eRpL

IlIIIIII| IIIIIIIII llIlIIIIl IIIIIIII| |

1

— I—Onﬁll—l -EIL” ’ﬂ:r‘olﬁl‘_l |-|.—

DO
DO_impaciparameltes_beste
Enlries 23513 DO/DO_err
M 0.0001824 oter best
S‘d Dev 0.02591 50000 }— 764399
o ean  0.008926
t v 2.214
40000 —
30000 —
20000 —
10000 —
L HHHHHHIﬂ]HH|Hﬂf _;3
08 1

PRI B LI
0.2 0 02 0.4 06

RHN process 43



